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All India Maha Mock UPTET Paper-I 08-Jan-2022 (Hindi)

Q1. aftfer awmw s s=fa 1 rgia gafaa g
RS EREIECIE

(b) T= i< foraw &1 erwar

QEIE:EEAEEIR

(O EEIRUSEREETL

Q2. ATYT FEw § SATHATA Sl THTATSIT IIAT % STANRT T AT Theeh T 3T 73T om?

(a) ElEz=0)
O RERIE!
(c) AT
(d) FFee

Q3. IT3 FSHT 41 Tgca Ul 872

(a) 7 FOrere T TI= AT FHT TATEAT FLd H Haq HAl gl
(b) TE THT YEYT | Hag FHLdT 2l

(c) g BT * fawT &1 a0 § T FLdT gl

(d) B 3T C T4

Q4. AT & | AT a1t Auft 6 M@ €T Hl AF ThiL:

(a) 50 & 75
(b) 35 7 55
(c) 20 AT 25 § =
(d) 20 & 40

Q5. & a9 F AT, fashre 7 <1 witkard gt 2
(a) ATCHETT AT THTATST

(b) T T fAdE

(c) HEAT T TRl

(d) I i ==f~Fca

Q6. Amferfera & & w/ar FReRmnfraT Y fErerwar =i 82
(a) For=Tei T foraer # qer=

(b) ZATHIIT & T THEATU|

(c) < & FreT|

(d) @ eI HIAA|
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Q7. "+fa €T T HIST1 T T ITANRT 21" STLTH HA [ohelel Fgl?
(a) & =T

(b) Tz

(c) 7=

(d) 39¢

Q8. T ferersh FHTST F A= a7 T ATTTHAT T TRk FIT I T ThdT 872
(a) 378 AT TGT *F ATT FAT FHLAT

(b) FETTHf fawmr

() 37T AEATYT T HTET HTAT

(d) 37 T & HTHI | ATHA FLAT

Q9. Mwforfaa & & =7 Hrawr it WihaT & U Agcaul T8 &7
(a) HrE= T ST

(b) s ferRaT

(c) TreaT

(d) sfe Rerfa

Q10. Frforfera & & fore ars T YART AT | goh Sl aeh STeTHaT i F9Ti o forg 3 om?
(a) o=

(b) FI T

(c) ZFETEA

(d) A 3T B Tl

Q11. Fuferfed & & foher =rfcwca 3a¥ T Ug=Te siresivs o Ag! il 272
(a) SEH@EAT I9TH FTHET

(b) =LTEsH F9TH ATAATHT [*ITdT

(c) AT S9TH ATHTIAT

(d) FTHAHAT TATH HAIASTTATE

Q12. g T e ua " Faw a7 fagia e aeqer a7 fafers aieramst & sremm g ym gar s, F &4+
STTHT SITaT &

(a) AT

D EEEBYIKE

(c) SRTHATHF

(d) TS

Q13. AT =5 o Hvaw H HHIed § & HIA-AT7 Ir+d &9 T AR AT 57
(a) ST, ST, AFLTHAT, ITATee, A& TFRTqT AR, IASHT H FHT
(b) ST, AFLTFHAT, ITASHT, ALT-TASTAT G, STATe, ITASAT H FHHT
(c) ATTLTHAT, AL-TGTAT HAGTY, T2, SASTHAT, STATeeT, ITITAT | FHHT
(d) STFITFAT, STSH, ITASHT, ALT-TASTAT, SHAGTL, ITATee, JTSAT § FHI
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Q14. TTaeTd 7 Fgr foh wfeveror, fover oiw foret ofF saTe o sreermae 9 strearia fEfs sy it srad o et
JGAT & AATAT 3T T Aol 5 -

O EREIEEESERT

(b) srgafer st

(c) 3g FH AT

G EREIEERIERI

Q15. TE AT 91Tk ST ToRelT SHagTIh TTAThaT T STToTd ST faraer FTdt g ST 39 AT iehar &l faterg fem
T&TH FAT 8, 98 o-

(a) IO

(b) g&aT

(c) TaT

(d) STa=ragar

Q16. AT FHIA % ATEAZIT H TH=AT AL T FHHAT o FT gl 3 -
(a) AARTATHF i

(b) ST T THA T |77 3 A Raar

(c) TTHTT i

(d) STk Tt

Q17. A TAFHAT il TH ATHTIOE H3AAT % & § FET 77 &
(a) AT THF

(b) waefier

(c) wfe=

G RIRICED

Q18. AT FHIAS & AT (A & Hgid & ar # Mefefag F91 § 9 951 w97 747 872
() STERT-3TEAT 3H o TF el ST AT 6 AT H TATN-AT H=d 2

(b) gl ¥ A= 3f¥ ae erf<FT &7 faeRre ATl

CEELEIRICASERL

(d) 3T9= FAT T BIEHT AU 0l AATS T T TE |

Q19. AR & fHZId ATHS [Fa* 2 :
(a) T B

OEEEER

(c) e ofa

(d) FIT =

Q20. X & TFIFTail o SATATT | il THHAT I AT Hid 6 (o1 forerah g Maferfad & & &7 a1 adiar
AT ST FHAT 872

(a) BTAT T AATAF IF TATIATAT T S FLAT

(b) BT & ATAZTIE TATAT T FHLATI

(c) BTAT U AT T TTAFT AT ITH Fls AYLTU TGAT|

(d) e FrT | foegpe a5t TIery a7 HLAT
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Q21. TTEAY & -l & HEIT & ATER, TF 'AH-S&F' ATh g & [T qad ATeH TR o a1l
FTH G

(a) &frawT

(b) ZgroEae

(c) sreaTiea

(d) wroTg

Q22. MHferad & & AT ATCH-ATATER AT il [F20dT 7g1 872
(a) ATET AT Higd

(b) FHEAT FHied

(c) Ta% 3T AL AT TaMa

O EEIES

Q23. T THA, ARG Bl FgAT a1 o (T Tl STl & 1o 77 & W21 &, Tgol FIT goll, FAT 21 &l &
ST T 4T 914 12 § ¥ 79599 #¥ 35 2

(a) AT qUIAT LA

(b) T=aEH AR FLFAT ATEAT

(c) FarerTe grror uterr

(d) ST H & A TE

Q24. TAATHSRAT T TTATHF TZAT F9rmdT 2|
OEINKGIEREL

(b) STETIETHY

(c) FH T8

CEEUEIE

Q25. FEAT | freqeh ZIIT STe S U< AR &< G T AHL AIAT ST agd I hle Tohe Fedl g, a7 TG Toheahl
IETET ERIT?

(a) FEeam=

OEEELEEIRER

(c) TaTaTaT

(d) wfaterar fagior

Q26. H@= FT TAATATAT IOV FqTAT g (o ag I &aF & AT AT HAOTH
OEIERE CEIREE I

(b) T T8 & qTSaEdl 9T HH T §

(c) @t = forw hre spfeehr 21 &

(d) T a3 & Faehi A4 g

Q27. ATICEhT & ATHTE, TaEw Fl o ST Agl [T ST 9hdT g
(a) T

(b) AR ¥ UH AT T Tfeadd

OEBEESZIERIER

(d) THHT ATHTOTE Has
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Q28. TEATH TATAT T AT ZIHAT AT T

(a) BTAT T TELAT AT AFLTFHATH T TEATH HLATI
(b) TR faawor & forw 37 arashatst i 9g=m |
(c) BT & AT

(d) &AHAT-3MeTRT THET F forT ST &7 S|

Q29. T3-HIHITcHS TS § T AT HATATCHSE 77T &
(a) T&T-AGT9TT HAGTE T &AHaT
(b) THY * FIEHIT o FT e7w7aT

(c) FTeI A H-TATHATHS 9=

(d) g &= % forg erwar

Q30. U= yrfaefier e &

(a) ST = AT % forw 93Ty stae e o S =i ul

(b) BT T Ik ARTETHE 3ol ST TT A THAT AT AR
(c) U= forersh 1 2T sy FT 9T wAT AR

(d) BT F = gfaeagt 9% e fgr ST =R

Directions (31-50): F=forfaa woai 1 &M T@s® 920 ST T & SO¥ & & forw 3f=a e &1 =9+
o

Q31. ‘TS’ 9158 H A 5% F AT Al S-S i1
(@) T+ 2=

(b) T&T + %

(c) 78 + 32

(d) Tz +%

Q32. 7 % & o Ao | &It fored 1 T30 g g?
(a) =t. AT &g

(b) ZET-ZFaTet T AT FAT ATRT

CEIRERREE

(d) =8 & FTS TE

Q33. % ¥ & forw e § ‘ATaa =res T TR gar 87
(a) ATAT-TIaT T AT FLAT ATMRT

(b) FTT & TAAT

(c) ST, VBT LT U qTAT 8

(d) =% & TS T2

Q34. HNI® T LT o=z g-
(a) ATRca®
(b) Fewar

(0 F
(d) =
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Q35. ‘Sgd’ & fauand+ &= 2-
(a) &

(b) sTTgd

(c) sTgd

(d) stTEd

Q36. Mwforfaa & & I AT 9158 ATIATHH HAT 9% 872
(a) &

(b) T&I=

(c) A=

(d) TSIt

Q37. ‘FrEA@Y Us% § HHAH §-
(a) TTLET
(b) &

QERELE
(d) FHaT

Q38. faHTaT a9 T st waTEg
T == 7 TR oft e 95
T dRAT | I 97 AR -
(a) 3THT

(b) T

(c) &

C)EEL

Q39. ‘3, 37 FT IFTLI €A F47. 52
(a) F=T

(b) dTeTx

(c) SArssT

(d) sreTfers

Q40. T, o1, T, &, T 0T Fohe av | T 52
(a) ITH S

(b) HIH =TT

(c) TI9T =HSTH

OESRESE]

Q4 1. HEHATHF TATH T FI HIoU-
(a) , T, &

(b) T, 9

(c) #E, =

(d) ST, &7
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Q42. ‘FHIS % oIy T Hiex FueT AW, T e Frfe #7 faaraor s gam 87

(a) oTETR
OREEIEED
OEIZIELEED
(d) TRuTETEE

Q43. ‘STHAT 9158 H Fl= 97 T4 87?
(a) THa=ET

(b) Tga=T
(c) =T

(d) =TH T F1E TS

Q44 'HTT B TISAT SN TH ATFT § I AT HTA 57
(a) TTeTe FAATH FTA
(b) TTT ST
() ATHTT AT T
)

(d) ATCRTIrF TAATH FT

Q45. ‘S=Ew T Aol wra-fF=ugE 8-
(a) ST + T
(b) ST + 5
(c) 3T + ST
(d) 3T + ST

Q46. BT AVHTAT H 3oH S &I T 52
(@) 9T, W, 9,8

(b)d, o, <, &

()2, 3,8,%

A==, 9,49

Q47. ‘attea es3 ® T AT -
(a) =%

(b) &

(c) forar

(d) =a

Q48. ‘T’ T gl €y =T 2-
(a) ST + SHT
(b) T<T: + 39T
(c) d<T: + 77
(d) AT + HT
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Q49. ‘FrEFHT=AT ITITH o G HIT &7?
O ECEIRERCET

(b) ==

(c) AT gAY

(d) FIforw

Q50. 7 # 7 e ere= & ‘T’ 7 W= gatm €72
(a) st

(b) |ZerT

(c) =fT

(d) e

Q51.% 7 & &iw & A& g7 A5 ¢ -
(a) ST | AT T A

(b) T4 & T Al AT
(c) FarereroT & FEwor FT AT
(d) STTFHTT & TITH T AT

Q52. ITS HHIT ITNTH T T ¢ -

(a) 9T & o TTST o FSTeT0T o FTT f ST qedl T TATEATT fUeAT T&T FHeAT

(b) TS ¥ WIH 9T&aT ST ATHAT HT Tl IFIE0

(c) TsaT , 9Teq TAAT U AT THAAT el AT ! ITH FHLdAT

(d) 3T Tt

Q53.ATuT freqor it Tr=red T, & J1T 5~

(a) Tererh sri=h ToraTetr U SHATT ST ATHT FASTT it FE07 37 Zaa el a9

(b) Fae =% U ATEAT GIET {0897 & Fears
(¢) et TANT , ATl U STETH €9 9T a7 e
(d) o |t

Q54. THTIT ATerHTeT ATAT he &7 H AT & -
(a) B A=

(b) TFaT ATAA

() ATFHLT ATAA

(d) STH THT

Q55. = =3 farar e @ 2 & R -
(a) g HETIF ATHAT &
(b) =rga f=rme &1

(c) Tgq T =T
(d) FErerft st BT stfers g1
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Q56.9THT TreTIT H AT T IZ294T & -

(a) Trermeff 1 sareReor & fif=a FamT

(b) Fereram=ff =1 AT F7 LF TANT FHLAT Hg=T
() AT HIETAT

(d) ferE=T T

Q57. ATT forevr o Rrgial ¥ & foh| gl | AT il Ha€ FH HgAd AT Igdl @ -
(a) Temer fafer

(b) s fater

(c) Frgoror fater

(d) st fater

Q58. YT TG@T ATAT g T I SATHLOT [T § SATET &+ Aol o, THeh Ty F97T FTL0T 21 Tl & -
(a) ZATHTOT FAOT &7 F5F AT

(b) AT 1T ATHL aﬁ'*-l‘acqli”?rlm HTAAT

(c) FereaTer & =ATRToT qETH o o qEaeni T SR FHAT

(d) SATHTOT AT T TN FIAT

Q59. TTH H HIT-AT FTF FA=TTeH ATERTH * A AT 2 -
(a) ToFehe Hra=T

(b) ATHRFAT FHEG=T

(¢) ITRTATHT FHra

(d) uTge HaAr

Q60.TRAT UL’ T UL TN B, TH FHTLIT IHF TUTS 3H qgd @Td g, =6 FForfa & foreqor &1 e A7 frgia
TRAT T TET=AT THhaT & -

(a) TFa=aT &7 ffrgia

(b) T HemaT T Argid

(c) fereor =T F AR w7 A

(d) wifers T2 s #1371 g

Q61. To chew the cud’ correctly means
(a) to contrive against someone

(b) to die on duty

(c) to mediate

(d) to inculcate virtues
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Directions (62-64): Complete the sentences in the following questions with most appropriate choice

Q62. He was very much ashamed ____ his mischief
(a) for

(b) of

(c) with

(d) over

Q63.____ hestood first, he would have gone to America
(a) If

(b) Had

(c) Have

(d) Anyways

Q64. Of the sword and pen, the _____is more powerful
(a) last one

(b) later

(c) latter

(d) last

Q65. Which prefix can be used with the following words?
Behave, guide, use

(a) in

(b) dis

(c) mis

(d) re

Q66. Choose the correct sentence

(a) The committee were one on this point
(b) The committee was one on this point

(c) The committee was divided on this point
(d) The committee have one on this point

Q67. Which of the following is an example of simile?
(a)  wandered lonely as a cloud

(b) Life is a dream

(c) Anxiety is sitting on her face

(d) A lie has no legs

Q68. Change the following sentence into active voice

The visitors were shown the newborn by the woman.

(a) The newborn was shown to the visitors by the woman
(b) The woman has shown the newborn to the visitors

(c) The woman showed the visitors the newborn

(d) The woman might have shown the newborn
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Q69. Select the antonym for the word ‘adverse’
(a) Hostile

(b) Friendly

(c) Inimical

(d) Unwilling

Q70. Fill in the blank with correct word to complete the proverb:
Blood is than water

(a) thinner

(b) thicker

(c) purer

(d) precious

Directions (71-75): In the following questions, a sentence / a part of the sentence is in bracket. Below
are given alternatives to the bracketed part which may improve the sentence. Choose the correct
alternative. In case no improvement is required, choose "No Improvement" option.

Q71. Rahul (already has) paid the fee.
(a) already have

(b) has already

(c) have already

(d) No improvement

Q72. Mitchell Johnson dithered every time he (make) fielding changes against MS Dhoni.
(a) makes

(b) will make

(c) had to make

(d) No improvement

Q73. She said that we cannot decide (about his character) in an hour.
(a) his character

(b) on his character

(c) upon his character

(d) No improvement

Q74. No soon had I reached the ground (and) the cracker show started.
(a) when

(b)than

(c) but

(d)No improvement

Q75. He (denied) becoming the scapegoat.
(a) rejected

(b) disagreed

(c) refused

(d) No improvement
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Directions (76-79): In the following question, a sentence has been given in Direct/Indirect speech. Out
of the four alternatives suggested, select the one which best expresses the same sentence in
Indirect/Direct speech

Q76. "Please don't hit me" Rita said to the attacker.
(a) Rita begged the attacker to not to hit her.

(b) Rita told the attacker to not hit her.

(c) Rita begged the attacker not to hit her.

(d) Rita pleaded with the attacker to not to hit her.

Q77. He said to me, “Government must eradicate poverty.”
(a) He said to me that government must eradicate poverty.
(b) He told me that government has to eradicate poverty.
(c) He said that government has to eradicate poverty.

(d) He told me that government must eradicate poverty.

Q78. This morning he said, “Tomorrow will be a hectic day for us.”

(a) This morning he said that tomorrow would be a hectic day for them.
(b) This morning he told that the next day would be a hectic day for them.
(c) This morning he said that tomorrow will be a hectic day for them.

(d) This morning he said tomorrow would be a hectic day for them.

Q79. Judge said to Ram Rahim, “What you did is immoral.”

(a) Judge told to Ram Rahim that what he did was immoral.

(b) Judge told Ram Rahim that what he had done was immoral.
(c) Judge told Ram Rahim that what he did is immoral.

(d) Judge told Ram Rahim that what he has done is immoral.

Directions (80-83): In the following questions, a sentence has been given in Active/Passive Voice. Out of
the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active
Voice.

Q80. Please wash all the dishes.

(a) You are ordered to wash all the dishes.
(b) All the dishes should be washed.

(c) You are requested to wash all the dishes.
(d) You are suggested to wash all the dishes

Q81. Did someone tease you?

(a) Was you teased by someone?

(b) Were you teased by someone?

(c) Was you being teased by someone?
(d) Were you being teased by someone?

Q82. We have to leave the tap open for all the yellowish, stinking water to drain.
(a) The tap has to be left open for all the yellowish, stinking water to drain.

(b) The tap had to be left open for all the yellowish, stinking water to drain.

(c) The tap will be left open for all the yellowish, stinking water to drain.

(d) The tap should be left open for all the yellowish, stinking water to drain.
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Q83. Has someone made the complete shopping list?

(a) Have the complete shopping list been made by someone?
(b) Has the complete shopping list being made by someone?
(c) Had the complete shopping list been made by someone?
(d) Has the complete shopping list been made by someone?

Directions (84-88): Read the following passage carefully and choose the most appropriate answer to the
question out of the four alternatives.

India’s ambitious second lunar mission, Chandrayaan-2, suffered a temporary setback in the early hours
of Monday, with the launch of the rocket being aborted 56 minutes before the scheduled lift-off.

The mission was aimed at putting a rover on the moon’s South Pole, where no country has gone before.
The countdown was stopped at ‘T Minus 56 minutes’ after Indian Space Research Organisation (ISRO)
scientists found a glitch in the launch vehicle system. ISRO had completed filling of liquid hydrogen in the
cryogenic stage of the GSLV MK-III-M1, which is capable of carrying satellites of up to four tonnes, at 1.34
a.m. But 22 minutes later, the countdown clock stopped ticking at 56.24 minutes to launch.

“The launch is called off due to a snag. It is not possible to make the launch within the window. The
launch schedule will be announced later,” a mission control official said on the public address system at
the Satish Dhawan Space Centre.

Q84. Why did scientists abort the mission?

(a) They thought the weather was not good for the purpose.
(b) There was a technical glitch in the server.

(c) Launch pad was not ready.

(d) They found a glitch in the launch vehicle system.

Q85. What was the aim of the mission?

(a) Putting a rover on the moon’s North Pole.

(b) Sending a man on the moon.

(c) Putting a rover on the moon’s South Pole:

(d) Putting a rover on the moon’s North and South Pole.

Q86. When was the countdown stopped at?
(a) T Minus 56 minutes
(b) T Minus 57 minutes
(c) T Minus 58 minutes
(d) T Minus 59 minutes

Q87. How many tonnes of satellites can be carried by the launch vehicle which was to be used?
(a) 1.34

(b) 4

(c) 56.24

(d) 22

Q88. Select the antonym of ‘ambitious’
(a) Aspiring

(b) Modest

(c) Eager

(d) Assertive
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Directions (89-90): In the following questions, some part of the sentence may have errors. Find out
which part of the sentence has an error and select the appropriate option. If a sentence is free from error,
select 'No Error'.

Q89. Most of the Indian populations still lives (A)/ in its villages and thus the contribution of (B)/
agriculture to Indian economy becomes very important. (C)/ No Error (D)

(a)A

(b) B

(c)C

(d)D

Q90. What really agonizes them is the presence of (A)/ an unwanted and unscrupulous (B)/ member on
the panel. (C)/ No Error (D)

(a)A

(b)B

(gC

(d)D

Q91. T TIF FIIT T (AT 40° 8| FT 5
(a) 65°, 35°

(b) 70°, 30°

(c) 25°, 65°

(d) 70°,110°

Q92. 5« 121012 =T 12 & farsriora o3 SITaT g, a7 9T &
(@) o
(b) 2

(c)3
(d) 4

Q93. AT T =AAH J&AU & A1 6 S Tl Fad &
(a) sg

(b) & ATHTT

(c) &=

(d) "rex

Q94. (X 24 TH HEAT F 3/4 FT 2/3 T, AT 39 TEAT &I 1/4 F4T gHIT?
(a) 8

(b) 12

(c) 10

(d) 32

Q95. 7+2V10 FT TTHA &
(a) (V6 +1)

(b) (V3 +2)

(c) (W2 ++/5)

(d) (2 +V5)
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Q96. T T H=AT % 60% FT 3/5 AT 36 5, AT 9g HEAT &
(a) 100

(b) 75

(c) 80

(d) 90

Q97. IT% Tt I &1 FF Tod ST (AT Tod FT 3/2 &, AT AT AT g T(a9rd g
@33%% oI

) 33206 Eifel
. 3329 BIfel

(d)

33Eﬂfﬁ ollH
Q8.7 2352 = 2 x 3 x T\ y 4y 4 o7 W1 FbeerT 27
@5
(b) 7
(c) 8
(d)9

Q99. 7% 3'%% =1 7 & Rrwrfra fra straT & v e 2-
(a)7
(b) 6
(c)8
()0

Q100. 40 =7T<F 30 fa=T # 200 T A&« @Id-gl 30.&E 500 T =ae fha faat & =
(a) 120

(b) 80

(c) 90

(d) 100

Q101. =T = 3T H PAQ, f6g A 9% I it ¥4l ¥@T § 3T ABCD UF e/ AqHA &l

afg ~CAQ = 70°, dr ZABC §
(a) 70°

(b) 80°

(c)110°

(d) 90°
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Quo2. 17+ 22 + o + 97 =285, 1 (011 + (022 + .. + (0.99)" 1 os

(a) 2.4485
(b) 0.24485
(c) 3.4485
(d) 0.34485

Q103 el dﬁﬁaﬁ 1{}9 x 1(}2 - 1{}3
(a) 10°
(b) 10°
(©) 10°
(d) 10°

Directions (104-106): T =T g™ SiX I § A i U, V, W 3T X ZIRT I STqerd st &T
gfataterea FEar g1 a7 AT 9% o= Y 3 I I e T=10 397 4
1

00
87
50 £0
75 75
u v w %

WHistory ® Geography

B 8 &8 8 &8 ¥ 8 8

=
[=]

L=

Q104. =T farw=t Tk =7 & o Aferw qfaera fhee v fFhar?
(a) ATV AT W

(b)V

(W

(dU

Q105. W T 9311t 3% Siagrd & (oA ITH sishi a1 Tiaerd fha«r 8?2
(a) 75.8%

(b) 80%

(c) 77.5%

(d) 75%

Q106. Tt BT FIT fAgrd § W $f|d Siaerd s foha«r 872
(a) 78%

(b) 75%

(c) 72.5%

(d) 70%
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—w = =7

65

(b) 2

©®
11

(d) 2#

Q108. T FeT F 12 fa=rfi= g=r uTe i 7 ’rew 67.4 21 AR 15 FHEtdAy areit U =T Fe AT T qre A
72.3 8, AT 3T HI<H AT AT hiTora?

(a) 70.12

(b) 69.85

(c) 71.23

(d) 68.94

Q109. 6% ATITF TT & ILTT AT T2 AT I AT AT & ST x T H THh oA 7 1/3 g1 x AT A
gl
(@ *

4.:
(b) *

62

(@ 7

2

(d) *

Q110. T(< x TF qH HEAT &, AT FANIG AUH HEAT HIAHT 872
(a) x-1
(b) x+1

(c) x+2
(d) x-2

QlIl. A F Fahe A Hagg
(a) ITHIT

(b) FA T Lol

(c) Sge7

O iicEEIRIERI

Q112. =3f<F AT FeAT T T=IAT & (1T AT & TAAT T TAHT FIA % 29T | 1A FIT THAC g AT F4T
T T g, TG TAT T o [T Tk ITHLOT o & H JET ATAT g -

(a) TRTTCHS ATHAA

(b) TEATHF T

(c) A= e

(d) agreor
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Q113. FFfrfaa & & 797 JAIIATIE e =l [FA9rvar dgl 57

(a) o=ttt ST qeaaTelt &l <E@T ™A o FH 7L QG o

(b) =T FA=ITIHAT & FTq FLd §U G o0l AT GoAAT FF11eh o I ol ATSAT Hd g AT 9T H ATHA 21 2 |
(c) Torersh q@areg & Saral it AT FHAT)

(d) ST IETHT FT eATHRT FLA & F18 SIS &I HLATI

Q114. THT TreThT T T MIOMATT ASTTAAT T ITTRT FA o o0 AT d FRAT SITaT 8, ST Bt &
1= ITTOT T STeaTat o STANT &l TETAT & o [T 3H eRTael &l o ®F H JF7 14T 8 -

(a) o fovear & o

(b) T foreaT & oo

(c) riore forer & \gweer

(d) o forerr § IueReor

Q115. & T TALTIUT FT TAT < o [o1T, T [9reqeh Toheren AT 0% € qhdT 872

(a) et oft srapfar o &Rt it ot faf9rer aeqet Sier garett, U=, fnaTa sfe &t agraar & FeAT)

(b) T swepfaat &t sl &= &7 afesha Fed & o g St =mer

(c) THTE AT R T AZTAAT F RIS T &AFA ST HLAT

(d) TF I T FATS 3T ATSTE T AT AMTHRL TAT AT o &R 6 (o7 GAT HT ITANT FHileh ATAT 6 &AHA
T AT FHTAT

Q116. ¥ AT 7 "HHEIAT FT ATLTION &l TT FIA & (10 agd 1 SIS JIE, T THANTLATAT T tatert
A smEedt srfafater w1 seaurer G, e a+ha #am =1eq 87

(a) FHT ST T TR QATTAT o6 AT 20l STELAl 0l T FHLAT

(b) Fae FeAEATH Tere foreariat it STELal o T FIAT

(c) T AT FTAT ATk a8 ST [ o freqr & a7+ |

GERERIEIEEIEESIERIED]

Q117. TH= T SATLTIO FT TR=T 3 o for freqe Foheen 77121 4% 7 Toha1 82
(a) for=T %1 a/b & =7 ¥ forge. & o1, STt a0

(b) fatsrer swerre ¥ f9=It & sfer 3% g% AT Tg=AT=HAT

(c) STHOTH § HIS[E AIST1 o (T ST Al U<T HLAT

(d) SYLE § & FIS Aal

Q118. = faw v o § awent fohaw =19 few@Ts 3 T 82 I8 ot foranfeiai 1 geaisnd i &7 T34 Feal &

BRIESIRER]
(b) SATRATT 3fT w1 o1
(c) T&AT ATAAT
(d) FTHT T
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Q119. YT H= T 9% TIUIq & TAATcHT AT § ATHA 5
(a) AT T YT 3T T

(b) HE= o AT 3T Tqreq0T § FHRAT T TgAT
ORERIEIIG IR R

(d) AT THEAT T THTTH

Q120. NCF, 2005 ® Ifeafera 'afer T i Foqafeaa 7 347 o7 8 ?
(a) T BT &l dga¥ e T&E FHIAT

(b) FATHLT THEAT T HHTETH

(c) FATAZTIF ATAT V&I FHLAT
(d) T TTLTIO I TELT AT T (HATT

Q121. TITIXIT TreAT & AT § Tl AT FA7 Tl Agl &2

(a) AT AT o TITALI shl TAT T TT9T § IS HaH IS 6 [0, gH STNTEHAT Sl AF9THAT &, ST AL
aTre Rt o & gaferd Bt & sreaae & g o Jhd’ gl

(b) =g g2 Fxar o afasy it TIEt &t STeeal o g2l & Haraar & QT A1 ST IZT 8, AT 3T GaTel il
G T ST T FT 5

(c) TFTEXOT % FTE F AT ST ATaTEE T1eed =1 TAGd g0 &1 66 a1d 3T gH TH(d & g9 H

ATerF o & a7 g FA-5A 9T g

(d) IUTIE | & FIS qRT

Q122. F Al &l I F¥a=dd T § [HaAT0
1M1 1T 2

a-fagefia I- 3T

B- alel II- TrTEedT=r

C- A iil- 379

D- SeldlS IV-gaTTel

(a) A-IIL,B-1V,C-11,D-1
(b) A-1,B-II,C-III,D-IV
(c) A-1V,B-11,C-1,D-1II
(d) A-I11,B-I,C-II,D-IV

Q123.gST AT &l TNTAd FLAT ¢ -
OEIEEIGES

(b) 8T [

(c) st

(d) STk Tt
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Q124. I AT 9L & ATH Agl 57

(a) 7 farfere T aca &

(b) T ATZEISIA, BIERIEH AT TTTAAR % 3= & &
(c) T T HH ATAT § AT &

(d) 3T ITH TETHTIoTR ATH 3

Q125. THUH & T {AeAT F ®T § 3T T &l ST (GF1H ST H@d | T Aged ol AT & & H FAT ATA?
(a) T TG oF T TATES ST FeATT AT AT T ATIAT FT THAT FAT

(b) ATeH ¥ Feqarefier ATew SrEH IR 7 O wof a7 o §, TRcHT AT qoat wl Fhied w¢
GETIES

(c) &, Hr@w 3T T8 T 9 AATATHE I (o Fed § Hag Hedl g

(d) 3UTr<F T+t

Q126. FUT 3T = AT TSt § ATHA o AL AT A FETATAT S
(a) Tad=
(b)ﬁ"ﬂﬂ'(
(c) Freh
(d) AT

Q127. AT YU &I (RFTT F T GHATAT AT HTLOT A1 AT &l dhdT 872
(a) STHIHT T 9% TGUOT [ HH FA o (o0 =HAT 6l SATS Hl SFAH GHT T T q@TAT AT A0
(b) TTESIAE TG TUTAT Tl TG AT STANT FHY

Q128. forerht =t fafere et sy i & forw SUHh qeATha STHIUN il Tg=ATH FIAT AT X Tg A T2d
FEAT ATRU TR 3UFor 3w 2

(a) T4

(b) Fraer

(c)

(d) T (a) &1 (b)

Q129. &1 &7 T AT (UTTHE & TH T A5l 872
(a) HEATAT T FUTHE

(b) FT=TETE FT e

CEEIRIERIEESIEIR I
OESIERASRLEIEIRERIEE

Q130. 7LHT & o § THTS T2 HLeAT THE © -

(a) FLHTT

(b) TraT

(c) FTT

(d) fagme
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Q13 1. TRITCHS TeATHT & AL § I H HIT qF 87

(a) T2 HTE FT ATFAT &

(b) 3TH I 9T FHE F 0 U Tohts F ofd H IrRi A Fg HET g 7 751 HrEr g T AR qafhq F
ferg

() TTTCHT oA Tohd TZIA G FTA o6 T ToheT HT T8 TEATH T &

(d) STk Tt

Q132. T7H | FH[FHT U LTI ITaT Hdh 872
(a) FelTCH

(b) STTET®

(c) TL=RTEHT

(d) STk Tt

Q133. FATUH o 1L | HId T FAT qF A8l g7

(a) FTEY T yaTE fR3fRer g

(b) T @I ATHIT ST FTEATHF AT o HATAT § HE& FLal &
(C) FATUH % FTE Tl | & el JLehTSHT ST &

(d) SULTF § | FIs Al

Q134. ATLT T T LAY o T § ThE TATH T SATAT SATAT 82
QEXIS

(b) et

(c) T

(d) TATETSTR

Q135. SATTH H ATAGIE HTd il dgd Hgcdqol qIHH o=
(a) BT T AT T AT Aqfh F AT

(b) T T Fafaaar a2 3t s @@

() ST I STIHAT I ATEA A A AT &

(d) T Trere  FTITATT T 7T HT

Q136. Fferfera & & wra-ar weft =T S97aT & ST U =i U A7 AT it ATETsh F dewhdr g2
(a) T3

(b) TCaE

(c) T9as

(d)aﬁa'(a-s?

Q137. T AT TSI & THATT 57

(a) T ATCH |G § TIAA0T a1 8

(b) T TG T1H I IETAT <aT &

(c) TE E1H WTAAT 3fT g1 FIOFRIT I TETAT T

(d) TTSET T | 1A M Foreqen T A & FTRT THT 7AT 8
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Q138. 3T & FATT &I AT Hid § AATATd § & I H HLah Agead 0l IHFT [T 52
(a) & FT TITT 3T qIOA

ORRIERUEIREIT]

(C) TATHIT & | g AT il IUTEIAT A ATk 6T At Fofa

(d) 3UTr<F T+t

Q139. T&T % 1L | Fld AT HAT Aal Al &7

() TTEr ST SATEYTH & TEHT SAEA-ETT |, L& G ST 9& g9 H 7ag Fdl ¢
(b) TE A ATST o T § FTATITR TTAT T ATCTTESIA ST g2 § HEE FLAT &
(c) TE WY &I ITT TgATaT &

(d) SUE § | Fls Al

Q140. TATIXIT TTAF & [T AFIAF Bg TISTFAT HIAAT | HIAAT ATHA Tl g-?
(a) GEATHS HIqA

(b) STFTaaTar Frerer

() THEAT THTHTA FTA

GEIGUEEEINE

Q141. TITEI I AT il FHaTs o TATAT H HIAAT ATHA Tal 872
(a) THET T A7 &Y THET o Ferd i X AT @0

(b) a9 ATET GTel, ATFa<l 3T T=IS{1aT o AT &

(c) sz smg Ry, TRHTr 9% STaT 8,

(d) F@T T T AT TEga T AT 37T IS ALl &

Q142. yrifRafas o= Fi fFrerwar w7 #1872

(a) T TTRTRATOehT it AT FIFTTHE 2018 ©

(b) THH ST ¥ sroifa QAT "Jeh e g

() T TRt =7 T ST T o [o1T AG9TE SHoIl sl HTAT SHeh! FL=AT I¢ AT F#ecft g
(d) 3UTr<F T+t

Q143.TH FA H ___ 7 IS T 3l¥ ____ HTET T 37 872
(a) EFEe, e
(b) TTHST, AT
(c) Tre, Eteas

(d) S, T

Q144. TATALIT AT TAAVT T TATAT a4 & Tor forersh gy Maferfea & & Fresht STanT 981 B srar
g?

(a) Fer=rTferat =7 faferer gfoon & Taiea=or it A= i SATAT FA & o0 TATad F:2

(b) TFTEor o a1 H feraf=ia it Srewar s o s i wrfever w3

() watareofia aaeardt F1 get Fed § wih anfardt 1 SRy #¢

(d) FeAT H qTSTEahl ST TEEAV F SATeahad ST
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Q145. F&T 1 3 11 H, NCF 2005 ATUT < MO & |1 GATALIT =Teeh il [RRTTET HXaT gl
(a) erTf¥rer

(b) THTFT

(c) ot

CIEER

Q146. AT EA HT ___ Bl g
(a) afdsmr

(b) #der

OES

(d) SUTE § | Fls Al

Q147. I AT ST g€ SATT = qIaT 872
(a) T

(b) FrarerT

(c) eT=T

(d) J=X

Q148. "I FT AT Uk VAT o § Sl £, T JAT1 & A1 TqeAT & ToT T2 | qI5a0H H7 U Ao
(a) TA=HT 1986

(b) TAEITE 2005
GELZIEERREIERIU

(d) SUTF § | Fls Al

Q149. TETT=r= FeT HATerd 8-
CEILERIE

(b) ST

(c) FATeH

(d) et

Q150. HET TXeT o IFeA0T § &l 97 1T 2Iq 82
(a) FfAwTY

(b) AT

(c) T

(d) gfermom

23 | www.teachersadda.com www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$1. Ans.(c)

Sol. The child doesn't proceed straight or linear on the path of development. Development at any stage
never takes place at a constant or steady pace. After the child had developed to a certain level, there is
likely to be a period of rest for consolidation of the developmental progress achieved till then. In
advancing further, therefore, the development turn back and then moves forward again in a spiral
pattern.

S2. Ans.(b)
Sol. The theory of Jean Piaget suggested the use of assimilation and accommodation in learning language.
He also believed that mental development of children is pre-requisite to language acquisition.

S$3. Ans.(d)

Sol. The correct answer is option D, i.e,, both B and C. A good lesson plan saves a lot of unnecessary time
which is usually spent by the teacher or students when a lesson is taught randomly. An organized plan
along with effective assessment also ensures that students understand and grasp what the teacher tries
to deliver. Lesson planning is not done to impress students, but it certainly improves students' confidence
and trust on their teachers.

$4. Ans.(c)

Sol. 1Q score of a profound level intellectually disabled childrange below 20. They may be able to develop
basic self-care and communication skills with appropriate support and training. Their retardation is often
caused by an accompanying neurological disorder.

$5. Ans.(b)

Sol. Heinz Werner believed that development consists of two processes integration and differentiation.
Integration refers to the idea that development consists of the integration of basic, previously acquired
behavior into new, higher-level structures. Differentiation refers to the idea that development also
involves the progressive ability to make more distinctions among things.

S6. Ans.(d)

Sol. The correct answer is option D, i.e., poor body balance is not a characteristic of Dysgraphia. The
disability related to writing where learners become awkward and tense when needed to write or even
hold pen or a pencil, is known as dysgraphia. In this disorder, learners face trouble in writing down ideas
and saying words out loud while writing. They also face problem in grammar and often omit words while
writing or leave them unfinished.

S$7. Ans.(b)

Sol. Wood Worth stated that memory is the direct use of what is learned. A memory is a new experience
determined by the dispositions laid down by a previous experience, the relation between the two being
clearly apprehended.

$8. Ans.(c)

Sol. A teacher must take the utmost care of her students whether or not they belong to the disadvantaged
section. A person who belongs to the disadvantaged section is low in confidence. They are the people who
are socially, economically weak. A teacher needs to give individualized attention to those learners and if
requires then should modifies her teaching methodology or pedagogy to cater to the need of all learners.
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S9. Ans.(a)

Sol. The correct answer is option A, i.e., Style of learning. Teaching a class of 30 students and all the
students belongs to different cultures or backgrounds is a very challenging task for a teacher. It is the sole
responsibility of a teacher to cater to the need of all students irrespective of their caste, creed, culture,
etc. a teacher can teach to each child of her class by catering to the need of all students and it can be done
by making changes in the style of learning as per the requirement of the child. The teacher needs to
modify and at times needs to make sudden changes in her class just to reach the last students of her class.

$10. Ans.(b)

Sol. Moron, Idiot, and Imbecile are old terms from psychology. These terms were used to label different
degrees of cognitive impairment. Moron: 1Q score of 51-70, Imbecile: 1Q score of 26-50 and Idiot: IQ score
of 0-25.

$11. Ans.(d)

Sol. Eysenck identified three personality factors: psychoticism, extraversion, and neuroticism (PEN.. Each
of Eysenck’s factors is a bipolar dimension, which means that each has an opposite. He identified
Extroversion vs. Introversion, Neuroticism vs. Emotional stability, and Psychoticism vs. Normality.

$12. Ans.(c)

Sol. The reasoning in which a general law or principle is derived from a study of particular objects or
specific processes is known as Inductive reasoning. It helps the learner in developing the ability to reason
by observing common elements in similar instances.

$13. Ans.(d)
Sol. Need, Drive, Arousal, Goal-directed, behaviour, Achievement, Reduction of arousal.

$14. Ans.(b)
Sol. Conditioned reflex is the stimulus which is associated with another stimulus and response is
generated. For example: Salivation in a hungry dog in response to ringing a bell.

$15. Ans.(a)
Sol. An inner force that stimulates and compels a behavioral response and provides direction to that
response is a motive.

$16. Ans.(d)
Sol. Variations in acquisitions of manual skills are usually due to variations in psychomotor speed, ability
for and quickness in understanding procedures, and general intelligence.

$17. Ans.(c)

Sol. Heredity is what we inherit from our parents. It is a static social structure because once we inherit
certain genes they cannot be modified or changed. Many aspects of human characteristics such as height
and eye color are determined by genetics.

$18. Ans.(a)

Sol. The second important aspect of the development of a child is to intervene between the right and
wrong of human actions. According to Lawrence Kohlberg, the same way children pass through various
stages of cognitive development, similarly passages of moral development. According to Kohlberg,
children at different ages think differently about right and wrong. Before the age of nine, contemplates
the context of outsiders and influential persons. According to him, a work is wrong because he is
punished for him. Children see these rules as such a guideline. When children grow up, they gradually
develop individual ethical codes or conventions.

25 | www.teachersadda.com | www.sscadda.com | www.bankersadda.com | www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$19. Ans.(d)

Sol. This theory was presented by American psychologist Clark Hull in 1930. In a book called Principles
of Behaviour. The revision of this theory was done in the book Essential Elements of Psychology
published in 1951. Hull made his theory based on 17 autobiographies, 17 sub-principles and 133
theorems. His theory is also called mathematical-deductive theory.

$20. Ans.(b)

Sol. A teacher can strengthen the learning process by fixing realistic and practical anticipations from
students. Fixing unrealistic expectations leads to demotivation and it makes the activity burdensome and
boring. Hence, option b is the right answer.

S$21. Ans.(b)
Sol. According to Gardner's theory of multiple intelligence, the factor that would contribute most for
being a 'self-aware' individual would be Intrapersonal.

$22. Ans.(d)

Sol. Except D. all other are characteristics of self-actualizers. Self-actualizers are reality centered, they
can differentiate what is fake and dishonest. They are problem-centered. They had a quality of acceptance
these people would be more likely to take people as they are.

$23. Ans.(c)

Sol. Thematic Apperception Test -The Thematic Apperception Test, or TAT, is a projective measure
intended to evaluate a person's patterns of thought, attitudes, observational capacity, and emotional
responses to ambiguous test materials. The TAT is a widely used projective test for the assessment of
children and adults. It is designed to reveal an individual's perception of interpersonal relationships.
Thirty-one picture cards serve as stimuli for stories and descriptions about relationships or social
situations.

S$24. Ans.(d)

Sol. Divergent thinking is primary identifying feature of creativity. Divergent thinking is one of the well-
studied aspects of creativity. According ta J. P. Guildford and hi colleagues defined it as the ability to
generate multiple alternative solutions to a given situation or problem.

$25. Ans.(a)
Sol. Under this, the child substitutes his anger or other emotional reaction on another.

$26. Ans.(a)

Sol. Constructivist view of learning plays an active role in construction of their knowledge. Active
learning is based on a theory called constructivism. Constructivism emphasizes the fact that learners
construct or build their own understanding. In this Learners develop their existing knowledge and
understanding in order to achieve deeper levels of understanding.

$27. Ans.(d)
Sol. According to Vygotsky, learning cannot be separated from its social context.

$28. Ans.(a)

Sol. Evaluation practice should aim at identifying students need and requirements. It evaluates the
weaknesses of a child which helps the teachers to identify the weak students. It makes the students
prepare to improve further to score high.
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$29. Ans.(b)
Sol. The cognitive ability that comes in pre-operational period is ability to take other's perspective

$30. Ans.(a)

Sol. In a progressive classroom ample opportunity should be provided for construction of knowledge. It
can be done easily if one starts from the scratch in the classroom to start the lesson. Recognition of the
concept with the previous knowledge is a must to give an authentic learning to the students.

$31. Ans.(c):
Sol. TETE’ 9T5% H U 9158 T AT - UE + % Bl

$32. Ans.(b)

Sol. fa®e (b) H FATSTS (=T T TANT g3l § AATA IAT-aaqaTsll & A1 S [=red T g I G0 = (-)
FEd &l

$33. Ans.(c)

Sol. &= (c) # @Tae = &7 YT g3T 3| oid 2. § ST (.) =re o g =3 e =T #gd 2l

S$34. Ans.(c):
Sol. “THRF T fudrani= sz FEH g

$35. Ans.(d):
Sol. ‘g’ 1 fAra{IaTel erea o(ATE 2|

$36. Ans.(d):
Sol. ‘AT 9168 | ATAATHH HHAT gl ATAaTAS HAT - STF HAT 058 | TITAT 6T TGAT, [O-IW, gH A7fS FT
T T I ATIATHF HAT Fgd gl A - 1T, T, T999, HieTIT, FETE, THh1Ee Al

$37. Ans.(c):
Sol. ‘FTRI@T’ 9157 H Tgellig THIH gl

$38. Ans.(c):

Sol. T&IT GREAT H &[T AR gl YT AARTE - ZT FT 1 gIaT g =TT g3 AT AT g3 ST T of oo & gH
At orof [oera 1 7 SS9 a89T g ST gIav gl ATHT STa el 9168 FT AN UF J1 i (haT STaT g oA fehd
S I T [MEad § al a8 T AAHT FgaATal gl

$39. Ans.(c)
Sol. ‘3, 37’ FT IFTLUT T AT gl

$40. Ans.(c)
Sol. T, o, T, &, T F 99T oA g

S$41. Ans.(d):
Sol. ST’ UF ‘€7 HEgATHH qAATH 5|

S42. Ans.(d):
Sol. TEQT AT § TROTHATAS aT= 9 gl
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$43. Ans.(a):
Sol. ‘ST 9158 H UFHa= 2l

S$44. Ans.(a):
Sol. 'HTeT e ATEAT gVIT’ H ATHT | HIave Fq-TH 1 gl

$45. Ans.(b):
Sol. ‘I=E T Hel Aie-fI=gg Iq + 59 gl

$46. Ans.(a):
Sol. fEaT FUHTAT § ‘o1, W, 7, T’ 7 =4I 2|

$47. Ans.(d):
Sol. ‘RaTfa@ 93 § = I &

$48. Ans.(c):
Sol. TTHT FT Fat §1Y A=z aof: + 97

$49. Ans.(a):
Sol. ‘FrEFRTAT ITATH & @ dehidvad Gl gl

$50. Ans.(a)
Sol. TH’ 9153 ¥ G FT TANT garr 2|

$51. Ans.(d)
Sol. ST & STATA =l T, qd & THA b AT A FTHTT T FHur &1 A2 A7 of (0407 G 8, Aqaweor 7
FFATH T AR 12 A0 T 7@l 2

$52. Ans.(a)
Sol. TS THI IUTTH T AT & TSI Teqah o qIST & QA0 o I g ATTUH qcai i FATEAT ferear yare
AT, TS H TIh T5a1 AT ATHT T Al SFIE HIAT |

$53. Ans.(a)

Sol. TTUT fOTETT o Tr=ehd T & (HGid & "I g 99 (AeTh sieeh Brarel U STEl g1 ST ey 1 ==t
AT AT AT T Treqeh it PRy g &l ag o9 91 &l e a3g &= I0T a9T1dT §, ag SOH 9 o 35
g AT F5l, Svg Toha=T JHT 3T 2T 8l

S$54. Ans.(a)

Sol. ZHTIT ATEHTET ATAT HIF ATAT % &9 H AT g, ATHAL ag TIAT UgTs HIT qTa H gl L gl T AT
ATARTIT ATAT WA BT 2T Bl

$55. Ans.(d)
Sol. Ta® srfers feveror fafer ag greft € e fererameft swerfia fram stifess 211 5 fFar & stfess & sfds sy
AT o TAT IAHT AT T AT ITh RITAT T AT gf ag TATer qaifes ST gial &l
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$56. Ans.(c)
Sol. STTUT freAoT & TR FT Ig<9T ¢ Feamf&ay F1 AT F7 [F TN FAT H@@r | 9T foreqor 7

TR, TTHT o &[5 AN &l HE@TdT 2

$57. Ans.(d)

Sol. wToT foreqwr & fArgial & o e (i & were w0 Hgea AT ST 2, S SAT<h AT Togn AT THF
IELT F G FRET 1 AT H@ar g a7 S ATHATT: H@e Fgd g, TAT S A<k e 1 I 9 T af
g aT g A1 39 JTHHE [&afd Figd & |

$58. Ans.(c)

Sol. Y FATHIOT [GUT | SATET & A5l ofd FAT i [AEATAT F SATHLIT TETH o [oT TEqhl HT TINT gl &, Bl
AT § ag ATAF Teahi HT TANT Aal HLAT ATgd gl, UAT Al g il ST ATHLI Rl HEeA 0T Agl AT a7 T
STHLIT AT HT TART FHIAT Al AT

$59. Ans.(d)
Sol. 9BTE Hraw T &9 fer=Treas ATeRTH F Siaiia orar 8, 922 "Hreq & o ag &7 9= 991 w2, 3=
Fh ITAAT BIAT &, TG SIhl ol TIH FHT TN =l (oheeh aT& FAT AT, A TF T T T (e (A=

Lo}
FTA TETE AT 2|

$60. Ans.(b)

Sol. AT & ZIT U &l UL T UL, T97 AL FT [RIGTd THAT T TZTIAT FT TohaT g, 597 TTLT FT 7T
g G2 I TATTIAT T FT IeH AT FHIAT| ST % AT G 0l TATAIT Dl ol TgaT (1 ad aF a8 3
AT A1 AT I

$61. Ans.(c)
Sol. To chew the cud means to meditate.

$62. Ans.(b)
Sol. He was very much ashamed of his mischief.

$63. Ans.(b)
Sol. Had he stood first, he would have gone to America.

$64. Ans.(c)
Sol. Of the sword and pen, the latter is more powerful.
'Latter’ is used to refer to the second of two persons or things mentioned previously.

$65. Ans.(c)
Sol. 'Mis' can be used with the words.
Misbehave, Misguide, Misuse

$66. Ans.(b)
Sol. The committee was one on this point.
A committee is made up of multiple people, but the word itself is singular.
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S$67. Ans.(a)

Sol.  wandered lonely as a cloud.

Simile is a figure of speech in which a word or phrase that compares something to something else, using
the words 'like' or 'as’.

$68. Ans.(c)
Sol. The women showed the visitors the newborn.

$69. Ans.(b)
Sol. Antonym of adverse is friendly.
Adverse means making something difficult for somebody.

$70. Ans.(b)
Sol. Blood is thicker than water.
Comparative adjectives are used to compare differences between the two objects.

S$71. Ans.(b)
Sol. Adverb of frequency comes before “main verb” thus “has already” should be used.

$72. Ans.(c)
Sol. First clause is in past thus next clause should be in past as well. As no other verb form is given in past
thus “had to make” should be used.

$73. Ans.(a)
Sol. Use of ‘about’ is superfluous here. Correct option is A “his character”

S74. Ans.(a)
Sol. No soon is positive degree it takes “when” with it. Format of the sentence is: No soon + helping verb +
subject + main verb + ......When.........

$75. Ans.(d)

$76. Ans.(c)
Sol. The correct narration is, “Rita begged the attacker not to hit her.”

$77. Ans.(d)
Sol. ‘Must’ used in reported speech normally does not change when it refers to duty or law of nature.

$78. Ans.(a)
Sol. ‘Today’, ‘Tomorrow’, ‘Tonight’ don’t change when the speech is reported the same day.

$79. Ans.(b)
$80. Ans.(c)

Sol. In an imperative sentence we use “you are ordered/requested to” while changing active voice into
passive voice. Since here a request is made so we use “requested”.
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S$81. Ans.(b)

Sol. To change questions from Active to Passive beginning with ‘Did’, follow the below rule:
Active: Did + Subject + Verb1+ Object?

Passive: Was / Were + Subjectl (Obj) + Verb3 + by + Agent (Sub)?

$82. Ans.(a)
Sol. Active: Subject + have / has / had + to + V1+ Object
Passive: Subject(Obj)+ have / has / had + to + be + V3+ by + Agent(Sub)

$83. Ans.(d)

$84. Ans.(d)
Sol. Refer to “The countdown was stopped at ‘T Minus 56 minutes’ after Indian Space Research
Organisation (ISRO) scientists found a glitch in the launch vehicle system”.

$85. Ans.(c)
Sol. Refer to “The mission was aimed at putting a rover on the moon’s South Pole, where no country has
gone before”.

$86. Ans.(a)
Sol. Refer to “The countdown was stopped at ‘T Minus 56 minutes’ after Indian Space Research
Organisation (ISRO) scientists found a glitch in the launch vehicle system”.

$87. Ans.(b)
Sol. Refer to “ ISRO had completed filling of liquid hydrogen in the cryogenic stage of the GSLV MK-III-M1,
which is capable of carrying satellites of up to four tonnes, at 1.34 a.m.”

$88. Ans.(b)
Sol. ‘Ambitious’ means having or showing a strong desire and determination to succeed. Aspiring, eager,
assertive, are its synonyms.

$89. Ans.(a)
Sol. Replace ‘populations’ with ‘population’.

$90. Ans.(c)
Sol. Use ‘in’ in place of ‘on’. We have members in the panel/meeting/debate etc, not on the panel.

S$91. Ans.(c)
Sol. The difference of two complementary angles is 40°. The angles are 25°, 65°.

$92. Ans.(d)
Sol. When 121012 is divided by 12, the remainder is 4.

$93. Ans.(c)
Sol. The difference between the maximum and minimum observations is called range.
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S94. Ans.(b)
Sol.

XX %x E =24
Or,==24

Or, x =48

So,48x %
=12

$95. Ans.(c)
Sol. The square root of 7 + 24/101is {:w.."'i + w..."'g).

$96. Ans.(a)
Sol.

Or,x=100

S97. Ans.(b)
Sol. Let the cost price of the article be x

The cost price of the article = 3/2 x (selling price of the article)

X =3/2 x (selling price of the article)

The selling price of the article = 2x/3

Loss = cost price of the article = selling price of the article
=x-2x/3=x/3

Loss percentage = {Loss/(cost price of the article)} x 100
{(x/3)/x} x100=100/3

So,Loss =33 g 9%

$98. Ans.(b)

Sol.

Factors of 2352 =2% x 31 x 72
Compare:

2 x ¥ xTE=24 x31x 72
Or,x=4,yv=1,z=2
According to question:
XK+y+z=4+1+2=7

So, The valueof x + y + zis 7

$99. Ans.(b)

Sol.
When, 3/7 ; remainder = 3
32=9/7; remainder = 2

33=27/7; remainder =6 or-1 .......... (i)
Power in the question is 1989, so,
1989/3= 663

From the equation (i} above,
Or, 31989 = (33)663,
Remainder = (-1)5%2 =-1oré
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$100. Ans.(d)

Sol. Assuming average diet per person = constant

Per person per day consumption = 200 kg/(40 person x 30 day) = 1/6 kg
Days for which 500kg of rice will last = 500 kg / (1/6kg x 30 person)

So, Days for which 500 kg of rice will last = 100 days

$101. Ans.(c)
Sol. S102. Ans.(c)
Sol.

12+ 22+ .. +92=285

Multiplying each term of the above equation by 0.112

(0.112x 12) + (0.112%x 22) + ....... +(0.112) + (0.222) + ....... + (0.992) = 0.0121 x 285 = 3.4485

$103. Ans.(a)
Sol.

107 x 10% = 10°
=1pl®+t2-3)

=10%

$104. Ans.(d)

Sol.

Percentage of U = ?52:?] * 100 = 77.5%
Percentage of V= 6;3? »* 100 = 75%
Percentage of W = 81;—;—;1:: X 100 = 75%
Percentage of X = —= X 100'= 73.594

200

$105. Ans.(d)
Sol. Percentage of marks obtained by w=75%

$106. Ans.(c)

Sol.
Average percentage in History = w
=2%=72.50

4

$107. Ans.(b)
Sol.

12 285 171
137 95 189
12 285 _ 169
==X
137 98 171

_65
24
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$108. Ans.(a)
Sol.

12x67.4+15x72.3
12+15

Combined mean =

_ 810+1084.5
27
R 70,12

$109. Ans.(a)
Sol.

Prrxt
51=
100
1 PrGxx
=1p=
3 100
100 =
=——=5=
18 9

=X

$110. Ans.(b)

$111. Ans.(c)

Sol. Evaluation is an element of education that is based upon the educational objectives and the learning
experience. Evaluation is a systematic process of collecting, examining and interpreting information to
determine the extent to which pupils are achieving instructional objectives.

$112. Ans.(c)

Sol. Techniques, strategies, or methods used as an assessment to know the problems faced by the
students and their weak points are called diagnostic assessments.

Diagnostic Assessment: Diagnostic Assessment is a type of pre-assessment that allows a teacher to
determine students’ strengths, weaknesses, knowledge, and skill before instruction so that the teacher
can take measures to correct the mistakes and weaknesses of the students.

$113. Ans.(d)

Sol. Awarding marks/grades after evaluating answer book is not the characteristic of informal
assessment because it is a formal assessment which assesses how much a student is learned while the
informal assessment involves observation of learners and evaluating them using the data gathered. It can
be understood like formal assessment is quantitative assessment while informal assessment is a
qualitative assessment.

S$114. Ans.(a)

Sol. All teachers are encouraged to use precise mathematical vocabulary, and to promote the use of
mathematical vocabulary among pupils this vocabulary is known as language in Mathematics Education.
For example:

A number 2 more than x is 5 in mathematical language is written as
X+2=5

$115. Ans.(a)
Sol. To introduce the concept of area. a teacher can start with Comparing area of any figure with the help
of different object like palm, leaf, not book etc.
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$116. Ans.(a)
Sol. Mr. Manish used lots of manipulative, maths lab activities and ICT activities ti clarify the concept of *
Symmetry’ Mr. Manish wants to cater to students of all learning styles

$117. Ans.(c)
Sol. To introduce the concept of fraction teacher can start with introduction of fraction part of things
existing in the surrounding.

$118. Ans.(b)

Sol. This question assesses the development of a geometrical and spatial sense of the students as to
whether they can make sense of number concepts related to basic maths and apply spatial relationships
to organise and interpret mathematical data.

$119. Ans.(b)
Sol. Formative Assessment in mathematics at primary stage includes identification of learning gaps and
deficiencies in teaching.

$120. Ans.(d)

Sol. In addition to theorems and theories, mathematics offers distinctive mode of thought which are both
versatile and powerful, including mathematical modeling, abstraction, optimization, logical analysis,
inference from data and use of sumbols.

$121. Ans.(d)

Sol. Environmental education is essential because the environment provides us everything we need to
live. it helps to maintain ecological balance by providing a basic knowledge of environmental systems and
their processes

$122. Ans.(a)

Sol.

e Bihugeet has the sweetest melodious and heart touching lyrics of daily life. The songs talked about life
in the farmland, the pictures of kyu rula asam , their dreams, aspirations and love.

e Baul is a word that is derived from the Sanskrit word,Batul that means divine inspired insanity.

e Although a traditional folk singing style in Rajasthan, Maand is also recognised in the classical style.

e Among various folk genres of Goa ,Dulpod is probably the genre that expresses the true goanese
essence. The music carries the perfect sign of congruence between Indian and western culture and it
is rhythmic ,mostly anonymous and talks about the day-to-day lives of the Goanese people

$123. Ans.(c)
Sol. Cholera affects our intestines. Its carrying bacteria is called Vibrio Cholerae. It causes continuous
stool and vomiting

$124. Ans.(d)

Sol. Fertilizers have only short term benefit, therefore to get an optimum yield,it is necessary to use a
balanced combination of manure and fertilizers.

Continuous use of fertilizers causes harm to useful or symbiotic microorganisms living in soil.

$125. Ans.(d)

Sol. Sol. Friedrich Froebel, a German educator who created the concept of the kindergarten believed that
play is the highest expression of human development in childhood for it alone is the free expression of
what is in a child's soul. Therefore it is necessary to give importance to play at primary level.
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$126. Ans.(c)

Sol. The primary function of incisors is to cut food. The two incisors on either side of the midline are
known as Central incisors. The two adjacent teeth to the Central incisors are known as the lateral
incisors.

$127. Ans.(d)

Sol. Reducing pollutants in the air is important for human health and the environment.Poor air quality
has harmful effects on human health particularly the respiratory and cardiovascular systems.Pollutants
can also damage plants and buildings and smoke or haze can reduce visibility.

$128. Ans.(d)

Sol. Teachers should identify appropriate assessment tools for specific goals and tasks and ensure that
the tools are valid and reliable. They should be very careful while selecting or developing any test for
assessment.

$129. Ans.(d)

Sol. An ecological pyramid is a graphical representation designed to show the biomass or bioproductivity

at each trophic level in a given ecosystem.

e Pyramid of numbers represent the total number of individuals of different species at each trophic
level

e Pyramid of biomass shows the biomass at each trophic level rather than the population

e A pyramid d of energy represents how much energy initially from the sun is retained or stored in the
form of new biomass at each trophic level in an ecosystem.

$130. Ans.(a)
Sol. Fish cooked in mustard oil is famous in Kashmir.
Fish cooked in coconut oil is famous in Goa.

S$131. Ans.(d)

Sol. Summative assessment is an assessment administered at the end of an instructional unit in a course.
these assessments are intended to evaluate student learning by comparing performance to a standard or
benchmark.

$132. Ans.(c)

Sol. Plants' permanent tissue is divided into simple and complex tissues.

Simple tissues includes parenchyma ,collenchyma and sclerenchyma while complex tissues includes
phloem and xylem

$133. Ans.(c)
Sol. Out of four elements of phloem, only phloem fibres are dead rest three are living

S$134. Ans.(a)

Sol. Kannauj famous for distilling of friends is known as India's perfume capital and is famous for its
traditional Kannauj perfume, a government protected entity, Kannauj itself as more than 200 perfume
distilleries and is a market centre for tobacco, ittar(perfume),rosewater

$135. Ans.(c)
Sol. Give students real hands on experiences
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$136. Ans.(c)
Sol. Sunbird makes a nest that hangs from the branches of a small tree or bush. The nest is made with
hair, grass ,twins etc

$137. Ans.(d)

Sol. Some of the disadvantages of seminar

e [tisatime consuming process

e It cannot be applied to new students

¢ Timid students may initially feel nervous

$138. Ans.(d)

Sol.

e Different styles of houses are found in desert, hilly areas, plains etc. Human beings choose as per their
needs.

e Rainfall temperature, season like summer, winter etc. This factor decides the choice of house in a
specific area.

¢ Raw materials which are easily and economically available are preferred material for construction of
houses. Economic status of individual also decide the type of house we can afford

$139. Ans.(c)

Sol. Xylem transports the water and minerals to all parts of plant

Stomata facilitate carbon dioxide uptake and release of oxygen during the process of photosynthesis.
It maintains the moisture balance according to weather by opening and closing

$140. Ans.(b)

Sol. 6 curricular skills have been identified which are necessary for Environmental education-
e Numerical skills

Communication skills

Study skills

Problem solving skills

Personal skills

Information technology skills and social skills

$141. Ans.(b)

Sol. Forests are very important to human and to nature. Their habitats to millions of plants, animals and
wildlife. The recycle rainwater and remove pollutant from air.

Some more impacts of deforestation:

e Economic loss

Loss of biodiversity

Distructs the habitats of various species

Description of weather patterns and global climate

Breaks the water cycle

S$142. Ans.(d)

Sol. Some more characteristics of ecosystem are:

e Ecosystem passes from a less complex state to more complex state which is called an ecological
succession

e The amount of energy needed to maintain an ecosystem depends on its structure

e The function of ecosystem is related to the cycling of matter on materials and flow of energy
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$143. Ans.(c)

Sol. Stamen the male reproductive part and pistil is the female reproductive part of a flower.
Flowers which contain either only pistil or only stamens are called unisexual flowers.
Flowers which contain both stamens and pistil are called bisexual flowers.

S$144. Ans.(d)

Sol. It is important for a teacher to use strategies to make environment studies effective. She can promote
a positive attitude toward the environment. She plays a central role for children to increase their ability
for exploring understanding, appreciating and participating in environmental protection and
conservation.

Use of textbooks again and again is not beneficial to make the teaching effective.

$145. Ans.(b)

Sol. At classes 1 and 2,NCF recommends integrating environmental components with language and
mathematics. the present text books of language and mathematics of class 1 and 2 are based on the focus
given in the NCF 2005,to integrate environmental concerns with language and mathematics and these
represent relevant ideas that commensurate with the age and development level of the children so as to
provide them with the necessary understanding about their immediate environment.

$146. Ans.(c)
Sol. Cloves are the dried flower buds of the clove tree.
They are a romantic flower birds of a tree in the family Myrtacae, Syzygium aromaticum.

$147. Ans.(b)
Sol. Tucked into forks or nooks in the trees, koalas may sleep for 18 to 22 hours. A sloth sleeps for 15 to
18 hours.

$148. Ans.(a)

Sol. The national policy of education 1986 gave a definite thrust to Environmental education in the school
curriculum. It stated that protection of the environment is a value which along with certain other values
must form an integral part of curriculum at all the stages of education.

$149. Ans.(b)

Sol. Pattachitra art is folk painting of Odisha. Painting car based on the Subhadra, Balrama, lord
Jagannath, Dashavatara and the scenes related to the life of lord Krishna. Their manifested with rich
outline, red ,yellow ,ochre, white and black colours.

$150. Ans.(a)
Sol. Tamilnadu is a state in southern India.
Madhya Pradesh lies somewhere in the center of the country.
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